Norrorts Bridge
Yngve 2019-02-11

Partavling, 6 bord, 12 par. Antal brickor: 24. Medel: 120.0.

Plac Par Poang % Namn MID Klubb
1 8 148 61.67 Peo Lindholm - Anne-Marie Lindholm 38019 38018 Norrorts Bridge
2 5 143 59.58 Ingemar Kjellberg - Leif Tarnstrom 92765 10515 LM Ericssons BK - Norrorts Bridge
2 9 143 59.58  Bjorn Lindblom - Roland Karlsén 11623 37133 Djursholms GKBK - Norrorts Bridge
4 4 137 57.08 Benny Holm - Lars-Olof Hessle 32039 10170 Norrorts Bridge
5 6 136 56.67 Kerstin Hagglund - Christina Truuberg 82566 93305 Norrorts Bridge
6 1 114 47.50 Jan Olofsson - Jan Jensen 36602 92632 Norrorts Bridge
7 10 113 47.08 Gerhard Lindholm - Robert Lundstrém 37726 37727 Djursholms GKBK
8 11 106 44.17  Lars-Ake Sjéstrom - Kerstin Sjostrém 9826 48783 Norrorts Bridge
9 3 101 42.08 Bengt Lofmark - Kristina Rosdahl 9141 90417 BK S:tErik
9 7 101 42.08 Ulla Ahlén - Per-Olof Rehn - 83502 BK S:t Erik
9 12 101 42.08 Annsofie Karlsson - Kristina Hermanson 40246 42306 Norrorts Bridge
12 2 97 40.42  Eva Mahl - Rolph Johnsson 48672 20250 Hagfors BK - Norrorts Bridge
1 4 EK94 Basta kontrakt 2 4 Kn1065 Basta kontrakt 3 4 KD2 Basta kontrakt
Nord vE1065 INTN =90 Ost vKn743 3NT O =-400 Syd vKn764 44 V D -1 200
Ingen + D103 NS +82 ov + Kn863
D9 & ¢ v & NT #Kn62 & ¢ v & NT *EK & ¢ v & NT
4108 4 DKn72 N7 7777 4 K43 4 D82 N4 2 444 ~E8 4109764 N459609
v 982 v DKn4 S77777 vK v D9865 S 42 4 44 v9 vD105 S4596 8
¢ EK98 ¢ Kn65 06 6565 ¢ EDKn65 ¢ K97 09 109 9 9 + EKD1075 ¢ - 098474
#KKn76 #1083 V66 6 66 #EK53 108 vV 8 108 9 9 #Kn1093 487654 V98474
4653 « E97 & Kn53
v K73 vE102 v EK832
742 +1043 +942
#E542 «D974 «D2
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
2 11 INN+1 &7 120 90 10| 4 3 3NV-1 s] 50 100 00| 8 6 2vS+1 ¢A 140 9.0 1.0
4 3 INN+1 &T 120 9.0 10| 2 11 2NV +1 46 -150 70 30| 9 1 2vS+1 A 140 9.0 1.0
9 1 INS= »7 90 50 50(10 5 3¢V+2 ¢38 -150 70 30| 2 11 2¢ V-1 v6 100 6.0 4.0
10 5 INS= v9 90 50 50| 8 6 3NV= s] -400 30 70| 7 12 3vS-1 ¢ A -50 40 6.0
7 12 INN-1 a7 -50 20 80| 9 1 3NV= ] -400 30 70| 4 3 3vDS-1 4A -100 1.0 9.0
8 6 2NS-2 +8 -100 0.0 10.0| 7 12 3NV+1 a5 -430 0.0 100|110 5 4vS-2 ¢ A -100 10 90
4 a2 Bésta kontrakt 5  K1043 Bésta kontrakt 6 » 106 Bésta kontrakt
Vast vED62 6y N =1430 Nord vE54 34 N =140 Ost v 9765 34 S =140
Alla + KKn9642 NS + D83 ov + EKn943
*74 & ¢ v & NT *742 & ¢ v & NT *K5 & ¢ v & NT
#9873 « EKn105 N 108 128 10 | «ED87 452 N 109 5 9 7 4 K875 4 Kn4 N8 97 98
v8 v Kn54 S 108 128 10 | vDKnl10983 vK72 S 109 5 9 7 v 82 vED1043 S897 938
+D10875 ¢ E3 034153 ¢ 42 49765 0347 44 ¢+ KD2 4875 O5 46 45
%932 #D1065 V33153 «9 #KD108 V34744 #DKn108 %732 V54645
~ KD64 & Kn96 4 ED932
v K10973 v6 v KKn
.- ¢ EKKn10 + 106
#EKKn8 #EKN653 #E964
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
8 12 4y S+2 &7 680 90 10| 5 4 3vV-2 *2 100 80 20| 8 12 INN+3 +v3 180 10.0 0.0
9 2 4vy S+2 49 680 9.0 10| 8 12 4vyDV-1 &2 100 80 20| 9 2 INN+1 3 120 80 20
1 7 4v S= 49 620 40 60 9 2 3vV-2 *2 100 80 20| 5 4 26 N+1 4 110 6.0 4.0
3 11 4v S= +5 620 40 60| 1 7 3¢S-1 vQ -100 30 70| 1 7 INN-1 v4 -50 20 8.0
10 6 4v S= +5 620 40 6.0| 3 11 3NN-1 v2 -100 30 7.0 3 11 2NN-1 v3 -50 20 80
5 4 24V-3 a2 300 0.0 100(10 6 54DN-1 ¥Q -200 0.0 100|110 6 24 S-1 v8 -50 20 8.0
7 & EDKn2 Bésta kontrakt 8 « ED2 Bésta kontrakt 9 4 ED2 Bésta kontrakt
Syd v EKn1085 4v S =620 Vast vD7 5NT N =460 Nord vE106 2v N =110
Alla + K4 Ingen + KD7 ov + KD65
*72 & ¢ v & NT 109832 & ¢ v & NT #1052 & ¢ v & NT
49654 & K87 N 9 8 109 9 4 Kn10654 «87 N 119 6 8 11 41093 & K64 N6 6 87 6
v9762 vD4 S 8 8 109 9 v Kn942 v K1086 S 118 6 8 9 v D98 v K7 S 65876
¢ E53 ¢ Kn1086 045344 ¢ 105 ¢ Kn9842 023652 ¢ EKn109 ¢ 7432 077557
#DKn #E1043 V 45344 &Kn7 &E5 V23652 &E64 #DKn93 V775867
4103 4 K93 4 Kn875
vK3 vE53 v Kn5432
+ D972 + E63 +8
»K9865 +KD64 »K87
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 7 3vy N+1 ¢ 170 100 00|11 4 3NS+3 «4 490 100 00| 1 12 2¢yDN= 7 470 10.0 0.0
1 12 INN+1 8 120 70 30| 1 12 3NS+2 46 460 6.0 40| 6 5 2v N= +3 110 80 20
9 3 INS+1 &5 120 70 30| 6 5 3NS+2 T 460 6.0 40| 2 8 2vyN-1 *Q -50 40 6.0
6 5 INS= *Q 90 40 60 9 3 3NS+2 44 460 6.0 40| 9 3 2vyN-1 *Q -50 40 6.0
2 8 2NS-1 a4 -100 20 80|10 7 3NS+1 45 430 20 80|10 7 2vyN-1 *Q -50 40 6.0
11 4 44 N-2 +J -200 0.0 100 2 8 2NN+3 &5 210 0.0 100|11 4 4vyN-4 *Q -200 0.0 10.0
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10 4 Kn43 Basta kontrakt 11 4 Kn43 Basta kontrakt 12 496432 Basta kontrakt
Ost v DKn92 24 O =-110 Syd vE1064 3¢ VD-1100 Vast vKn 4v V =-420
Alla ¢ 102 Ingen + KD2 NS + E10764
#8642 & ¢ v & NT *E74 & ¢ v & NT #54 & ¢ v & NT
«D9 « EK1072 N6 4656 48765 #EK2 N6 586 8 « KD7 & Kn5 N8 8 384
v64 vE1073 S6 4656 vKn v D87 S6 586 8 vED10952 vK8743 S 88 38 4
¢ KKn9763 ¢4 O6 86 87 ¢7643 ¢ E1098 0784765 ¢ Kn2 + K3 O5 4 105 8
#753 #DKn10 V686 87 #K1085 #Kn63 V78475 *73 #E1082 V 5 4 105 7
# 865 « D109 « E108
v K85 v K9532 v6
+ ED85 ¢ Kn5 + D985
#EK9 «D92 #KDKn96
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
12 2 2NN-1 s A -100 100 00| 9 4 2v S+l 46 140 100 00| 3 1 5vV-1 a2 50 10.0 0.0
9 4 24 0= a5 -110 6.0 40| 3 1 2vN= sA 110 50 50| 7 6 5¢S-2 vA -200 80 20
10 8 24 0= *K -110 6.0 40| 7 6 2vy N= 4A 110 50 50| 9 4 4vV= a2 -420 40 6.0
11 5 3¢ V= v9 -110 60 40|11 65 2vS= »5 110 50 50(10 8 4v V= »5 -420 40 6.0
7 6 24 0+1 2 -140 20 80|12 2 2vS= v] 110 50 50|11 5 4v V= *4 -420 40 6.0
3 1 240+2 &K -170 0.0 100(10 8 4vy N-1 s A -50 0.0 100(12 2 4v V+1l +A -450 0.0 10.0
13 4987 Basta kontrakt 14 493 Basta kontrakt 15 462 Basta kontrakt
Nord v Kn982 34 N =140 Ost vKD1075 5& SD-1-100 Syd v Kn964 INTV =-90
Alla + 106 Ingen .- NS + D6
+«KD84 & ¢ v & NT #KKn8753 & ¢ v & NT #E10942 & ¢ v & NT
« KD 4 Kn1053 N9 87 98 « D6 « EK1087542 N 105 103 3 4 EDKNn108 49 N56 5765
vED10 v76543 S987 98 v EKn3 v 64 S 105 103 3 v K83 v 10752 S6 7676
¢+ D8742 ¢ Kn3 035645 410865432 ¢ Kn9 027 2 1010 + EKn7 4985 076767
#Kn107 &52 V35645 &E *9 vV 3 7 3 1010 *K8 #Kn7653 V7617867
4 E642 4 Kn 4 K7543
vK v 982 vED
+ EK95 ¢ EKD7 + K10432
#E963 #D10642 &D
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
12 3 3NS+1 *] 630 100 00| 4 2 5&#N-1 s A -50 90 10|12 3 3NV-4 +Q 200 10.0 0.0
4 2 2NN= 45 120 80 20| 8 7 5¢N-1 s A -50 90 10| 1 10 3vO-3 «Q 150 80 20
1 10 3NS-1 *7 -100 40 60|11 6 64DN-2 A -300 50 50| 8 7 24S-1 oT -100 50 5.0
9 5 3NS-1 ¢+ 4 -100 40 6.0[12 3 64DN-2 &K -300 50 50 9 5 245S-1 v3 -100 50 5.0
11 6 3NS-1 2 -100 40 6.0 1 10 44 O+1 +A -450 1.0 90| 4 2 2vyN-2 *6 -200 1.0 9.0
8 7 3NS-2 *4 -200 0.0 100 9 5 44 0+1 +¢A -450 1.0 90|11 6 INN-2 v5 -200 1.0 9.0
16 2 E754 Bésta kontrakt 17 497 Bésta kontrakt 18 » E86 Bésta kontrakt
Vast v E985 3NT N =400 Nord v 1065 4v N =420 Ost vED10 5NT S =660
()Y + E96 Ingen + ED6 NS ¢ DKn3
*E6 & ¢ v & NT #KKn1098 & ¢ v & NT #DKn53 & ¢ v & NT
4Knl1082 &KD9 N 8 107 8 9 4 EKD63 4 Kn1042 N 1010107 7 4 DKn973 4 K105 N 8 116 6 11
vKn2 vD10764 S 8 107 8 9 vKn92 v874 S 1010107 7 v 9642 v K753 S 8 116 6 11
+ Kn84 ¢ 75 053554 ¢ 104 ¢ 852 033364 ¢ 974 ¢+5 041761
+D874 #KKn9 V53554 #E76 #532 V 333614 »2 £K9764 V4a17¢61
463 485 442
vK3 v EKD3 v Kn8
+ KD1032 + KKn973 + EK10862
#10532 «D4 #E108
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
7 11 3NN-= v4 400 100 00| 1 8 3¢ S+1 &A 130 50 50| 2 10 3NN+3 3 690 80 20
9 6 2NN+2 v6 180 80 20| 2 10 4¢ S= A 130 50 50 5 3 3NN+3 +¢5 690 80 20
1 8 INS+2 vJ] 150 50 50 5 3 3¢S+1 4K 130 50 50 9 6 3NN+3 #4 690 80 20
5 3 2NN+1 @7 150 50 50| 7 11 3¢ S+1 4A 130 50 50 1 8 3NN+2 3 660 30 7.0
12 4 2¢ N+2 7 130 20 801 9 6 3¢S+1 &A 130 50 50| 7 11 3NN+2 v5 660 30 70
2 10 3¢ N= v4 110 0.0 100(12 4 4¢ S= sA 130 50 50(12 4 3NN-1 v5 -100 0.0 10.0
19 4 D1032 Bésta kontrakt 20 4 E8 Bésta kontrakt 21 4« E10963 Bésta kontrakt
Syd v7 44 S =420 Vast v K72 ANT N =630 Nord v Kn6é ANT N =630
oV + EDKn982 Alla + ED87 NS +82
*42 & ¢ v & NT #DKn42 & ¢ v & NT #EKNn107 & ¢ v & NT
» E965 @ - N 5 114 109 & D543 & Kn976 N 118 6 6 10 4 Kn « D752 N 8 7 101010
v 954 vEKKn1062 S 5 104 109 vKn10863 vED5 S 108 5 6 9 v85432 vK S 8 7 101010
+6 ¢ 10754 072823 ¢ Kn42 ¢ 1063 023773 ¢ DKn106 ¢ K954 016221
#Kn10853 #D76 V72823 210 #E65 V2377173 #K95 D643 V36221
» KKn874 & K102 » K84
v D83 v 94 v ED1097
+ K3 + K95 ¢ E73
#EK9 #K9873 »82
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 11 44 S+1 v9 450 90 10| 9 7 3NN+2 46 660 100 00| 2 1 3NN= *4 600 10.0 0.0
9 7 44 S+l  +6 450 9.0 10| 2 1 3NN+1 46 630 70 30| 6 4 34aN+1 45 170 80 20
12 5 3NS+1 a5 430 6.0 40| 6 4 3NN+1 &7 630 70 3.0 9 7 INS+2 +Q 150 6.0 4.0
2 1 44 S-1 v9 -50 30 7.0| 3 10 5« N= *5 600 40 6.0| 3 10 2¢vS+1 ¢Q 140 40 6.0
3 10 44 S-1 v9 -50 30 70| 8 11 INS+3 v3 180 1.0 9.0| 8 11 3NN-1 +5 -100 20 80
6 4 54S-3 +6 -150 0.0 10.0(12 5 2NN+2 &7 180 1.0 90|12 5 4vS-2 +Q -200 0.0 10.0
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410972 Basta kontrakt 4864 Basta kontrakt 495 Basta kontrakt
v2 3NT V =-600 v10 7NT O =-2220 v62 4e V =-420
¢+ E762 + Kn10763 + E109865
&ED75 & ¢ v &N #Kn985 & NT &ED3 L Y
«EKKNn83 D N6 6 6 5 4 & EKKn5 N 2 0 & E742 4 K1086 N7 6 43
v D65 v KKn74 S6 6 65 4 vK98762 vEDA4 S 2 0 vK108 v EDKnN3 S76 43
+109 ¢+ DKn54 O76 7738 + K94 + ED8 O1 13 74 ¢+ KDKn3 06 7 91
&#Knl04  #K832 V7617729 D106 &E74 V1 12 #10854 #Kn V67 9 1
4 654 4 D10972 & DKn3
v E10983 v Kn53 v 9754
+ K83 +52 *2
#96 K32 #K9762
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 2 264V-1 v2 100 90 10| 1 11 3NO+4 a2 -720 90 10| 6 12 INV+1 a5 -120  10.0
4 10 24 V-1 v2 100 90 10| 3 2 3NO+4 &9 -720 90 10| 3 2 34V+1 *A -170 8.0
1 11 INN-1 +5 -50 6.0 40| 4 10 6y O= +5 -1430 30 70| 1 11 4e V= v6 -420 3.0
6 12 2NO= v8 -120 40 60| 6 12 6y V= vT -1430 30 70| 4 10 4e V= A -420 3.0
9 8 2NO+1 v3 -150 20 80| 7 5 6v0O-= +5 -1430 30 70| 7 5 4eV= 49 -420 3.0
7 5 3NV= *2 -600 0.0 100| 9 8 6vyO= +5 -1430 30 70| 9 8 4eV= v6 -420 3.0
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